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02
03
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09
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RGEHB (172) it

=R SElR
o [NEEEFLEHIYHEP - s, HAETEK
/* prog3 1, BEIGIEM *+/ et (L
#include <stdio.h> = .
#include <stdlib.h> num || =| | 12400 }:
int main (void)
{
int numl=12400; /* B numl SRS R EAE 12400 */

double num2=5.234; /* BSnun? SEEESEER 2852 5.234 +/

printf ("%d i1s an integerin",numl); /* [¥0) printf () NS */
printf ("3f 15 a double‘n™, num2) ; A IED print £ () (REE] */

/* prog3 1 OUTPUT---

system("pause™) ;

return 0; 12400 1s an integer
5.234000 1s a double



SRR R (2/2)

o FBEHYE HHIEC]

int numl=12400;

o —

=

5SS EE] numl -

I =8{E A 12400

double numZ=5.-234;

- —
=

5 double HURZHYELE]
num?2 - EEE A 5.234

ZE T HIAC &

numl

num?2

} 4 bytes

8 bytes




o000
' TXX
- se
= ﬁv\a. RIRSi=
7N /”+Z;£Jd% .

LT

o STHAANE fjr RS B P L VB IR A 25 [E] f i DAFR 22
HY &R [E

7 3.2.1 CABESPRINERBEBIAIRE

SRR AUREER BF {17l =
long int ERLE 4 —2147483648 B 2147483647
sy | int B8] 4 —2147483648 Bl 2147483647
R | Chort int|  EEH 2 32768 Bl 32767
char = 1 0% 255 (256 {@=5T) -128 2 127
syetgy| float = EHEl 4 t1.2e-38 B +3.4e38
BE | owple | ERBEEEB | 8 | +2.20-308 % +1.8e308




EXEAUEE int

o FEBRIREH] 1)
o R (long int)
o FEEL (int)

o JOELE] (short int)

o TTHEELE AR

[ 7R Al =N i AVl AV Y

mj}

1 = u

InNt num=15; />

=B EAI
FO1/

J .

num FEEEr | W {E Ay 15 */

B
long Int num=1240L; /* BH% num &EELHE]  WiG{H & 1240L */
B

short 1Int sum; />

sum BigELEr */

THE% 15 J3 int B, L] {t3&long int - LL,lIft&long long - U,u {t324&55% - UL...

% 12.3 & double i 8 - FHUIRIFEEL



BEHINE R A 2

o n{ILJCHY—HEML ZR&LBEA 0, 1 RERRET

d a;38ga5 a48; A, a,q, n-1
000O0O0O0UO0DO i
000O0O0O0 O 1
000O0O0O0T10

N = O
Pl

255 > 1 1 11111 1
o HE(IIIA

44 — o 01 011 00
+ 13 - O 0001 1 0 1

57 > 0 0 1 1 1 0 0 1 IDRT Nk ]



BN SR T "
e Sign-Magnitude B Fo < T7E: 0 (IR, 1 (CFEER

18 — o 001 0010
-8 > 1.0 0 1 0 0 1 0

R I A P B T e 5
o n firjT 2’s Complement (2 (%) EBEFT T4

U Tl
18 5011101110 @  2x¢
+ 30 5000011110 | y
12 <10 0 0 0 1 10 0 | 2"x+y
7

BT



SRR s

o JI1E unsigned , SRR (B Bl B S RO
o SRR R AR, WA R A —

7= 3.2.2 HEREEBEHARE

B AR AREER R {ii7Ti8 FTEE

unsigned long int piiine ol - ) 4 0% 4294967295

unsigned int {fE S5 =2 87 4 0%l 4294967295
unsigned short int HE 2 45 £L 81 z 0 %l 65535

unsigned Int num = 123U; /* E&ESnumBEgiacsy, Wt & 123U */

unsigned short int sum; /* E&sumBHEgiigEcsy >/



k

SN/,

iz (overflow) (1/2) :

® '

01 /*

prog3_2, JEEESEHIEREEmI*

2 #include <stdio.h>
03 #include <stdlib.h>

04 int main{void)

05 |
06
07
08
09
10
11
12
13
14
15
16}

short sum,s=32767:;

sum=z=+1;

printf ("s+1= %d\n",sum);

Sum=zs+2;

printf ("s+Z2= %d\n",sum);

system(Tpause™) ;

_ (Y Y
= xxXx
X
Y
X

VL - A A BB e PR [

/* prog3 2 OUTPUT---

/
s+l= -3276%

s+2= -32767

/* EEREESIES] sum s */

/* FUEQH sum fUE *

/* BIENE sum B *

o111111111111111

return 0; + 000000OO0OO0O0O0CO0OO0O0OGOO1

1000000O00O0O0O0O0O0O00O0



/
x

2507 (overflow) (2/2)

] I3 8 L DS

short sum,s=32767;

sum=s+1;
o @ g

. °
. o 32766
’ o 32767
2 { ® - 32768
. b @ - 52767
9 \ ® _327686

. @
_2 °

®

2’s complement

3]0 1 1
20 1 0
110 0 1
0]0 0 O©

101 1 1

201 1 0

301 0 1

4011 0 0
s V{8

ETE sum=s+1 7% + sum H)85
ETE sum=st+2 7¢&  sum B985

10



(Y X
0000
( X X X
3
= I eE
F-ILHIRE char :
o TorAURE (EELIEAS T 1 {BfizoTil , ARG FTITHINE
o EHETICEEY  WEHMHATE
char ch; /* BEFITER I ch */
ch="A"; /* BFIorTEEA (B R, BEEA HYAME, 65)
R FITEBCh */
o (FE EHIEIRHETIEWE
char ch='A"; /* EEFocE8#ch T THEEA RELE */
char ch=97; /* Echzfg 597, ASCIIANEEI7THIF T a */
char ch='7"; /* ¥Bchi{E BT ICEE'T (E55)*/
char ch=7; /* Bcehs g &7, ASCIINEE &78yF T /ABEL */
o A& 8{EMIIT , Al DAFL -128 £ 127 2 A8

ch

ar ch=-56; /* E&ETFILEHCh , YHA(LF-56 */

11



o000
{ X X N
sy coo
FITHURE char :
o FICHIBE(LETIREE T | (BN WG T A T PR
o EETFILHIE , WINELT o
char ch; /* EEFEITE i ch */
ch="A"; /* BForEEA (B2 EEE, BEZEA ALE, 65)

B%S%TEQQ%ZCFI */

o (FE EHIEIRHETIEWE
char ch='A'; /> EEFICEEch , R FITEEA sERE */
char ch=97; /* ¥Ech (g 597, ASCIIANEI7THYF T a */
char ch='7'"; /* Bichs B Ao 87" (28 55)*/
char ch=7; /* Bcehs g &7, ASCIINEE &78yF T /ABEL */

o A& 8 ENIIT , A DIfFE -128 1] 127 Z[RIHFEEY

char ch=-56; /* H&5 08 ch , ¥)iH{bE-56 */
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FILRIRRHVER (1/4) t:

o [HEMVZIAA RHVEZHIEIFrE 8 ch

01

5
“

03
04
05
o6
07
08
)
10
11
12

/* prog3_3, ZITAIBUED*/
#include <stdio.h:>
#include <stdlib.h>
int main({void)

{

char ch=Ta'; /* BEZE8 ch IWREA A" */
printf ("ch= %c\n",ch): /* B ch @918 */
printf ("ASCII of ch= %d\n",ch): /* ENHE ch BY-H3ELE */
system(“pause’) ; /* prog3 3 OUTPUT---
return 0; _'

1 ch= a

ASCITII of ch= 97

13



FILRIRRHVER (2/4) 23

o DIASCHEEEZEF TeHIHRA -

01

=y
-

03
04
05
06
07
08
0%
10
11

/* prog3 4, DLASCII @3 F=0 */

#include <stdio.h>

#include <stdlib.h>

int main(vold])

{
char ch=90; /* REEE] 90 FBAG = ocE gl ch */
printf {"ch=%c\n", ch); /* El0 ch B */

system({"pause’) ;
return 0O;

/* prog3 4 OUTPUT--

ch="%

14



FILh

o B ¥ T

01
02
03
04
05
0é
o7
08
09
10
11
12

=
B
I

JCELE AR ETFERYASCIE

/k
(a1
4_.i
~_
9
~—
SR
-’

e

/* prog3_ 5, EFSooEAHEHABHEN ASCII S */
#include <stdio.h>

#include <gtdlib.h>

int maini{wvold)

{

char ch='2"; /* BESEITEE ch WEREAT2T */
printf ("ch=%c\n", ch); S* B S oTEE ch */
printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */

aystem (" pause™) ;

[* prog3 5 OUTPUT---
ch=2
The ASCII of ch is 50

return O;

15



FITAARHTEIB (3/4) :
o B T BLHMHE EAYASCIIHE scanf("%c",&ch);

ch=ch -'0"
printf("%d", ch);

01 /* prog3_5, IS ctEEABHIEN ASCIT i */
02 #include <stdio.h>

03 #include <ztdlib.h>

04 1nt maini(void)

05 |

06 char ch='2"; /* BESTEE ch o WRERT 2T */
07 printf ("ch=%c\n", ch); S* B S oTEE ch */

08 printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */
09

10 svetem("pause™) ;

11 rgtumiﬂf ) [* prog3 5 OUTPUT---

12 1 ch=2

The ASCII of ch is 50

15



FITRIBRAEE] (3/4) :
o B T BLHMHE EAYASCIIHE scanf("%c",&ch);

ch=ch -'0"
printf("%d", ch);

01 /* prog3 5, EIEZFpEEEABHEL ASCITH */
02 #include <ztdio.h>
03 #include <ztdlib.h>

04 int main{void) 8

05 |

06 char ch="2"; f* BESFITEE ch o WEREAT2T */

07 printf ("ch=%c\n", ch); S* B S oTEE ch */

08 printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */
09

10 svstem("pause™) ;

11 rztum E[f | [* prog3 5 OUTPUT---

12 1 ch=2

The ASCII of ch is 50

15



FICRIRRIVEI] (3/4) £
scanf("%d",&ch);

o HF T HAEFERYASCIIHE { scanf("%c",&ch);
ch=ch - '0";
printf("%d", ch);

4

01 /* prog3 5, EIEZFpEEEABHEL ASCITH */
02 #include <ztdio.h>
03 #include <ztdlib.h>

04 int main{void) 8

05 |

06 char ch='2"; /* BESTEE ch o WRERT 2T */
07 printf ("ch=%c\n", ch); S* B S oTEE ch */

08 printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */
09

10 svstem("pause™) ;

11 rgtumiﬂf | [* prog3 5 OUTPUT---

12 1 ch=2

The ASCII of ch is 50

15



)—‘—r‘_‘
FIook |
scaniFsAesgah),
o HF T HAEFERYASCIIHE { scanf("%c",&ch);
ch=ch -'0"
orintf("%d", ch);

01 /* prog3 5, EIEZFpEEEABHEL ASCITH */
02 #include <ztdio.h>
03 #include <ztdlib.h>

04 int main{void) 8

05 |

06 char ch="2"; f* BESFITEE ch o WEREAT2T */

07 printf ("ch=%c\n", ch); S* B S oTEE ch */

08 printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */
09

10 svstem("pause™) ;

11 rztum E[f | [* prog3 5 OUTPUT---

12 1 ch=2

The ASCII of ch is 50

15



 — sCaniy 700G ,&X);- [ X )
?‘7[: ,,_’?‘ /\]RH'E;J (3/4) prlntf'° ',x), °
scanfFyeEah);
o By LB HAHEENYASCIIAS - { scanf("%c",&ch);
ch=ch -'0"
printf("%d", ch);

e

/
7

01 /* prog3 5, EIEZFpEEEABHEL ASCITH */
02 #include <ztdio.h>
03 #include <ztdlib.h>

04 int main{void) 8

05 |

06 char ch="2": J* BEZEE ch o WEEEATZT */
07 printf ("ch=%c\n", ch); S* B S oTEE ch */

08 printf ("the ASCII of ch is %d\n",ch): /* EQJH ch 8YASCIITE */
09

10 svstem("pause™) ;

11 rgtumiﬂf | [* prog3 5 OUTPUT---

12} ch=2
The ASCII of ch is 50

15



2o — S B ATs
FZ e RIHe RN ER

Bil (4/4)

FouRIRRR AT AYEIRE

01 /* prog3 6, SpBIRERYSIENEEE> /
02 #include <stdio.h>
03 #include <ztdlib.h>

04 1int maini{void)

05 |
06 int 1=29%;
07 printf ("TASCII (3d)=%c\n",1i,1): /* EQEASCII{EA i NS */
08
09 system("pause™) ; l_) 208 g —EMIET g H/i2E 8 {& bits
10 return 0;
11 '} o« « < fol1]o 1|00
/* prog3 6 OUTPUT---

N 42 fiEMFESR | 0 1]of1fo
ASCIT (298) =+

16



Bt (113) '
o [ZRMR\JTH R 7T (escape character)
o SZRMR N ERERIES , TR

7% 3.2.3. S BBt 5]

ki e B FINERNEE +iEI ASCIT
\a B (alert) 7
\b {EI3E—48 (backspace) 8

@ 21T (new line) 10
\r Bl (carriage return) 13

TS Ir (null character) 0
= BES (tab) 9
W RFHR (backslash) 92
. 85|55 (single quote) 39
W €35|%: (double quote) 34




BAR T (2/3) :
o 7

01
02
03
04
05
06
o7
08
09
10
11
12

BRI 2

/* prog3 7, BERRESUGYBUED*/
#include <=tdio.h>
#include <=stdlib.h>

int main(void)

{

char beep="\a'; /* BEFTEB beep  WREHER \a' */
printf ("2c”, heep); J5 E_BREEAET sy

printf ("ASCII of beep=%d", beep):; /* EJHbeep fYASCII B */

system (" pause’) ;

return 0;

/* PI‘DgB_? OUTPUT--- %%ﬁ—%

ASCII of beep=7

18



Bt (3/3) -

o #

01
02
03
04
05
06
o7
08
09
10
11

TERHR ST Y EVRFIR AT 5%

/* prog3_8, BEEREEHU "N BYBUED */
#include <stdio.h>

#include <stdlib.h>

int main(wvoid)

{

char ch="\""; /* BEEFLES ch WEHER/"'\" */
printf ("scWe are the Worldzc\n™,ch, ch): /* Elmses */

system (" pauze™);
return 07

i

/* prog3 8 QUTPUT---

<:We are the WDrl&:>



\\I

I+

RLEGARIHEE float (1/2) :

o JFEREUL 4 (EfoTaH  ARGEIE £1.2x107° ~3.4%10™

float num;
float num=5_46F;

/* EEFEREEEE num */
/* EEFEEEE num , WEK{E S 5.46F */

o TEENHUFEEGEM ' %f Ear< |, BLIREER

wer I RS 55 T Yoe HE A 2
2ol
B A L
EES float double
EIH,  printf %f, %e %1, Y% le (Y%f, %e)
= A scanf %f, %e %Lf, %le

20



SFEEEOFIEE float (2/2) "
T BEE (S AR

01
02
03
04
05
06
07
08
09
10
11
12
13
14

—
QN SRR = 0000
- y & FfopET AL E
p A =0\ VR A E == -V
o Dl ZZ IS TR EX 0000

/* prog3 9, EEBGYBIED */

#include <stdio. h>
#include <stdlib.h>

int main(wvoid)

{

float numl=123.4L5F; /* BE nunl BSRGE 0 WEREA 123.45F %/

float numZ=4.56E-3F; /¥ EBE num? BEREE 0 IsA{EA 4.56E-3F */

printf ("numl=%e\n", numl) ; /* ISV AIEEEN T numl Y */
printf ("num2=%f\n", nun2) ; A DUSERENAYEYREEE num2 98 */

system("pause™) ;
return 0;



FFEEEORIRE float (2/2) :

01
02
03
04
05
06
07
08
09
10
11
12
13
14

17 U Y ER T

/* prog3 9, EEBGYBIED */
#include <stdio. h>
#include <stdlib.h>

int main(wvoid)

1
float numl=123.45F; /* B
float numz=4.56E-3F; g H
printf ("numl=%en", numl) ;
printf ("numZ=3%fi\n", numz) ;
system("pause™) ;
return O;

T

/* IS SIAYBIREEN &5 numl AYE */
/* PUSEESIRYEIREEN T num? f918 */

/* prog3 9 OUTPUT---

numl=1.234500e+002
numZ=0,004560

21



— e ——

ey GRS E A H — 0000
o000
o000

P ELEORUAE float (2/2) e

#include <stdio.h>

o HRLEE HAYE int main() {

float n =0.1;
01 /* prog3 9, SEEEEVDIED */ if (n > 0.1) printf("Wierd\n");
02 #include <stdio.h> return O;
03 #include <stdlib.h> }
04 int main(void)
05 |
06 float numl=123.45F; /* B nunl BEEE 0 WEREA 123.45F */
07 float num2=4.56E-3F: /* BE num2 BEME 0 WEREA 4. 56E-3F */
08

09 printf ("numl=%e’n", numl) ; A DIEEIEYBRYEEEN H numl AYE *
10 printf ("num2=%f\n", num2) ; A DS SESIAYRVEEENHE num?2 g8 *
11

12 system("pause™) ; /* png3_9 OQUTPUT---

13 return O;

14 1 numl=1.234500e+002

numZ=0,004560



FFEEEORIRE float (2/2) :

01
02
03
04
05
06
07
08
09
10
11
12
13
14

float numz=4.L56E-3F:; =

printf ("numl=%en", numl) ;

printf ("numZ=3%fi\n", numz) ;

system("pause™) ;
return 0;

#include <stdio.h>

SPERBGE ARG . ntmano
float n =0.1;

/* prog3 9, FEEEEVTIED */ if (n > 0.1) printf("Wierd\n");
#include <stdio.h> return O;
#include <stdlib.h> } Outputs:
int main(void) Wierd
{

float numl=123.45F; /* Bt numl BTREE 0 TEER 123.45F */

/% RIS AIREE] HH nunl BYE */
/% DUSREENBVAIREENE num2 §Y1H */

/* prog3 9 OUTPUT---

numl=1.234500e+002
numZ=0,004560

21



FFEEEORIRE float (2/2) :

#include <stdio.h>  45ble rounded

o JTRLE (T BvEIH int main() { —/ "to float

float n =0.1;
01 /* prog3 9, SEEEEVDIED */ if (n > 0.1) printf("Wierd\n");
02 #include <stdio.h> return O;
03 #include <stdlib.h> } Outputs:
04 int main(void) Wierd
05 |
06 float numl=123.45F; /* B nunl ASEE  WEEAR 123.45F */
07 float num2=4.56E-3F; f* B num2 AFEE 0 WEYEA 4. 56E-3F */
08

09 printf ("numl=%e‘n™, numl) ; A DI S RYEEE] S numl BY{E */
10 printf ("num2=%fi\n", num2) ; S PUS B0V BIREE T num2 BY{E */
11

12 system("pause”); /* prog3 9 OUTPUT---
13 return O;
14 1 numl=1.234500e+002

numZ=0,004560



TR B RR

01
02
03
04
05
06
07
08
09
10
11
12
13
14

printf ("numl=%en", numl) ;

printf ("numZ=3%fi\n", numz) ;

system("pause™) ;
return 0;

float (2/2) :

#include <stdio.h>  45ble rounded

Rt g PR IO R int main() to float

float n =0.1;
/* prog3_ 9, FEEEHIBIED */ if (n > 0.1) printf("Wierd\n");
#include <ztdio.h> retdrn O;
#include <stdlib.h> } Outputs:
int main(void) float to double conversion Wierd
{ for the comparison with double

/* IS SIAYBIREEN &5 numl AYE */
/* PUSEESIRYEIREEN T num? f918 */

/* prog3 9 OUTPUT---

numl=1.234500e+002
numZ=0,004560

21



7 ELES (double/float) AR,




N

2 ELET (double/float) AR,

e IEEE 754 Single Precision

e [IEEE 754 Double Precision




N

e IEEE 754 Single Precision

2 ELET (double/float) AR,

sign exponent(8-bit) fraction (23-bit)

I

0011111 000100000000000000000000O0 =0.15625
31 23 0



N

sign exponent(8-bit)
I

11111

2 ELET (double/float) AR,

e IEEE 754 Single Precision

fraction (23-bit)

3E200000

0001000000000000000000000 =0.15625

23

0




F2EEL (double/float) FEHAE R, | &

e IEEE 754 Single Precision
sign exponent(8-bit) fraction (23-bit) 3E200000

I i |
0011111000100000000000000D0D000000 =0.15625

31 23 0

z = (—1)°1.f x 2™

1-bit sign, s = 0: positive sign, s = 1: negative sign

8-bit exponent ¢, where ¢ = m + 127, we need to reserve exponent number for special cases

c = (11111111)9 = 255, ¢ = (00000000)o = 0, therefore 0 < ¢ < 255

23-bit fractional part f

Machine epsilon: € = 272 ~ 1.2 x 10~

Smallest positive normalized FP number: UFL — 2L — 27126 00 1.9 x 1038

Largest positive normalized FP number: OF L = 2V+1(1 — 277) = 2128(1 — 27%%) ~ 3.4 x 10°8



FBEE (double/float) IEHAER, | i

Float (IEEE754 Single precision 32-bit)

Decimal

1.5625E-1

Most accurate representation = 1.5625E-1

- Binary

0x3E200000=00111110 00100000 00000000 00000000

Sign Exponent Mantissa

EI S| | | [ o]y ] o] ] ] ] | e

01111100 01000000000000000000000

http://www.binaryconvert.com/convert_float.html



7 ELES (double/float) AR,

e [IEEE 754 Double Precision




JZEEEY (double/float) FERUARR, |

e IEEE 754 Double Precmon

nnnnnnnnnnnnnn
sign (11 bit) (52 bit)
If I




F2EEL (double/float) FEHAE R, | &

g=if—1)%1.F 36 2™

1-bit sign, s = 0: positive sign, s = 1: negative sign

11-bit exponent ¢, where ¢ = m + 1023, we need to reserve exponent number for special cases

c = (11111111111)5 = 2047, c = (00000000000)2 = 0, therefore 0 < ¢ < 2047

52-bit fractional part f

Machine epsilon: € = 27°2 2 2.2 x 10716

Smallest positive normalized FP number: UFL = 2L = 271022 9 9 » 10308

Largest positive normalized FP number: OFL = 2U+1(1 — 27P) = 21024(1 — 2753) ~ 1.8 x 103%

The exponent is shifted by 1023 to avoid storing a negative sign. Instead of storing m, we store
c = m + 1023. Thus, the largest possible exponent is 1023, and the smallest possible exponent is -1022.

IEEE 754 Double Precision

exponent fraction
sign (11 bit) (52 bit)
I I




F2EEL (double/float) FEHAE R, | &

g=if—1)%1.F 36 2™

1-bit sign, s = 0: positive sign, s = 1: negative sign

11-bit exponent ¢, where ¢ = m + 1023, we need to reserve exponent number for special cases

c = (11111111111)5 = 2047, c = (00000000000)2 = 0, therefore 0 < ¢ < 2047

52-bit fractional part f

Machine epsilon: € = 27°2 2 2.2 x 10716

Smallest positive normalized FP number: UFL = 2L = 271022 9 9 » 10308

Largest positive normalized FP number: OFL = 2U+1(1 — 27P) = 21024(1 — 2753) ~ 1.8 x 103%

The exponent is shifted by 1023 to avoid storing a negative sign. Instead of storing m, we store
c = m + 1023. Thus, the largest possible exponent is 1023, and the smallest possible exponent is -1022.

IEEE 754 Double Precision

exponent fraction

sign (11 bit) (52 bit) http://www.binaryconvert.com/convert_double.html
I Il |

o o] o
63 52 0 29



W2 N LIgse
fERE SRR double (1/2) | ¢
e double BIRE(E 8 {lE{iroaH |, FE /KT 2.2x107" ~1.8x10™
o float H A 7~8 firEHYETE |, doublen]7E 15~16 firg

http://www.binaryconvert.com/convert_double.html

SR . A B printfE1] 1A R B A
num1 112(3].[4|5|6|7|8|7|1[0]|9(3|7|5 ArHRRR A is — T A,

fFil4n:  —iEfr 0.10101 =>

float BIEHBERE 7-8 @ FHEfL 27 + 23 + 2

BFRE

THE/NEEL RS 15 fir

double num2=123.456789012345 ; 2-15=0.000030517578125
R NEECRL R 15 (13 BE B I
TR
num2 VIZA3]. 1415167 819101123 [4|5| 223 3/ NEELEZ 23 (T 8RR
IHHER \
double EIBE4 BT = 15~16 (& g:Z %?g;+ﬁ{ﬁ/J\§Q£f§ 48 ﬁ[%ﬁjgg

o e T FEMER T

12 3 4 5 a4 7 % 9 10 11 12 13 14 15

23



R I RABIZURE double (2/2)

o [ HIHVEIWIE float 5 double #5FE LR

01 /* prog3 10, floatElB double {FEMLLET */
02 #include <ztdio.h>

03 #include <stdlib.h>

04 1int main(void)

05 |

06 float numl=123.456789012345F; /* B& numnl & float 58 FHIE
07 double numZ2=123.456789012345; /* B4 numZ & double {iZ2 FHE
08

09 printf ("numl=%16.12f\n", numl): /* BEQHZ2EET numl AO{E *

10 printf ("numZ=%16.12f\n", num2); /* FHEDHEEEZSZE] num2 AY{E *

11

12 system(Tpause™) ;

13 return 0: /* prog3 10 OUTF:LIIT _____
14} numl=123. 45678@109375’

o -

numz=123.456785012345

24



22 T Ve NN bnbu# 3

EHR LA fEs 2 (EEE, double BURER 64 (N1 TR HAeTRE
204 FEA VR T, —ER BT EINAS RN, HAE
S ATV E AR

Eﬁxﬁ double RUREF LR RFR MR T 248 -10°%° - 10°% g
&, PRI N A G AERMH B R REILE £10°0, R 2k
EA—{I f 10190 R/ NHVEF AR, (@SR (H AR £ 10%, B —
[ 107190 R/NHVBF 2GR, 8T (H A £ 10710

ry{ TR RIS IS (H? SRR (T 807 1R T BREI R
A DLUR B, s sl @ A B N YRR RS A

e doublex, y; e double x;

A (x==Yy) ... X for (x=0; x!=1.0; x+=0.1)

SGE (x1=y) ...

25



33 SN B S

sizeof 55

compile-time operator

o EEEL I/ MBI TTEHAYEE

e [ sizeof 5%

sizeof EEATHECH HL;
o
sizeof (B LB EED ;

-

o EHITDRIAIARR (SATILTEA

{ sizeof 5%

sizeof (BRIAIREXTR) ;

26



sizeof 15 HIJE -

01

~
<

03
04
05
06
o7
08
09
10
11
12
13
14
15
16
17
18
19
20

/* prog3 11, JEHSESHERENEE */ /* prog3_11 QUTPUT---
#include <stdio.h> sizeof (2L) =4
#include <stdlib.h> sizeof (ch)=1
int main (void) sizeof {num) =4
{ sizeof (int) =4
4 =k e — gy . sizeof (long)=4
char ch; / -EI:TT”’%ﬁACh / sizeof (ghort)=2
float num; /* BEEEEEEE num Y

printf ("sizeof (ch)=%d\n", sizeof (ch)); /* EEZCEE] ch PGB * /
printf ("sizeof (num)=%d\n", sizeof (num)); /* EIEES] num pT{EITIE */

printf ("sizeof {int)=%d\n",sizeof (int)); /* &EFf int BUREP{G{IITiE */
printf ("sizeof (long)=%d\n",sizeof (long)); /* &58 long BUREPT{b{iItiE */
printf ("sizeof (short)=%d\n", sizeof (short)); /* &38 short PY{E{I-TiH */

system("pause™) ;
return 0;

27



0000
i
LR AB :

o MEPIEIRRI AR Sy —AIRRHVERA

(

[ R RE A

(AR IRE) ST

int num=12;

float total;

total=(float) num; /* BEinthAUgsiEa i Float#ige */
num = (iInt) 12.345;

28



BRI EIREHTEEA (2/3) :

o JEFEEBEHRAERITHEY]

01

-
-

03
04
05
06
07
08
0%
10
11
12
13
14
15
16
17

/* prog3 12 OUTPUT--——————-
/% prog3 12, SHIFEISEAIEEE S/ PEOg_

#include <s=tdio.h> numl=3.002000, numzZ=3.988000
#1include <stdlib.hs> nl=3, nZ=3

int maini{voidy  mmmm e e * /
{

int nl,nZ:

nl=(int) numl; /* 452 368] nunl IS1RA 28] */
n2=(int) num; /* 452 268] nun2 SR LA */

printf ("numl=%f, num2=%f\n",numl,num2); J* EFILSEERVE */
printf ("nl=%d, nz=%d\n",nl,n2); /* HILSRBEERLEEIZ0IE */

system("pause™); | n1:=nu”ﬂ; .
return 0; . g++ compiler warning messages (not gcc)

) test.cpp:9: warning: converting to “int” from “float’ .



01

p
-

03
04
05
o6
07
o8
0%
10
11
12
13

BRIEIREH A (3/3)

o (EELBIMMPFRNEL  HETPRAER

/* prog3 13, BEHIBIEEEEIER*/
#include <ztdio. h>

#include <sztdlib.h>

int main{void)

{
int num=5b;
printf ("num/2=%d\n", num/2) ; /* BES(AELER */
printf (" (float) num/2=3f\n", (float) num/2); /* SEESTIRAL S RHET
system("pause™) ; /* prog3 13 OUTPUT--------
return 07

y num/ 2==2

(float) num/Z=2. 500000

 BHEFRE */
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